Log Lesson #3
Expectation: Solve exponential equations in one variable by determining a common base and by taking logarithms
Sample problem:  Solve 4x = 8x+3 by expressing each side as a power of 2  and by using logarithms (e.g., solve 4(x) = 8(x+3) by taking the logarithm base 2 of both sides)

Sample problem:   Solve   3x= 7 by taking the logarithm base 10 of both side.

Sample problem:  Solve 300(1.05)n = 600 and 2x+2 – 2x = 12 either by finding a common base or by taking logarithms, and explain your choice of method in each case. 

Expecation: Make connections between the laws of exponents and the laws of logarithms  and use the laws of logarithms to simplify and evaluate numerical expressions 



loga x + loga y = loga (xy)



loga x – loga y = loga (x/y)



loga xb  = b loga x
Sample problem:  Evaluate the expression  log101000 – log 10100 and then rewrite the answer as a logarithmic term to the same base, 3.1 recognize equivalent algebraic expressions involving logarithms and exponents, 

Sample problem:  Evaluate the expression  log101000 – log 10100 and then rewrite the answer as a logarithmic term to the same base, 3.1 recognize equivalent algebraic expressions involving logarithms and exponents, 

Sample problem: Sketch the graphs of f(x) = log10(100x) and g(x) = 2 + log10 x, compare the graphs, and explain your findings algebraically. 

